

Conversion de Fractions (J)

Nom: _____

Date: _____

Convertissez les fractions mixtes en impropres et les impropres en mixtes.

$\frac{25}{9} = -$

$\frac{21}{10} = -$

$\frac{69}{8} = -$

$\frac{9}{2} = -$

$\frac{73}{8} = -$

$\frac{55}{9} = -$

$2\frac{8}{15} = -$

$2\frac{1}{12} = -$

$\frac{39}{10} = -$

$1\frac{7}{15} = -$

$\frac{47}{8} = -$

$\frac{31}{9} = -$

$2\frac{3}{10} = -$

$\frac{40}{7} = -$

$6\frac{11}{15} = -$

$\frac{65}{12} = -$

$\frac{44}{5} = -$

$8\frac{4}{7} = -$

$\frac{23}{5} = -$

$7\frac{3}{4} = -$

$1\frac{1}{4} = -$

$3\frac{3}{7} = -$

$7\frac{2}{15} = -$

$3\frac{1}{5} = -$

$2\frac{1}{7} = -$

$\frac{19}{8} = -$

$6\frac{7}{10} = -$

$\frac{65}{9} = -$

$\frac{14}{9} = -$

$\frac{12}{5} = -$

$\frac{136}{15} = -$

$4\frac{1}{3} = -$

$5\frac{1}{6} = -$

$3\frac{11}{12} = -$

$\frac{35}{9} = -$

$\frac{64}{15} = -$

$5\frac{5}{6} = -$

$\frac{67}{12} = -$

$9\frac{2}{7} = -$

$7\frac{6}{7} = -$